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KaneHgapHbIii y4ebHbIn rpaduk
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Cem. 1| Cem. 2 | Becero |Cem. 3| Cem. 4| Bcero | Cem. 5| Cem. 6 | Bcero | Cem. 7 [ Cem. 8 | Bcero | Cem. 9 | Cem. A| Bcero |Cem. B | Bcero
d TeopeTuyeckoe obyyeHre 1 NpakTuku | 18 16 34 18 16 34 18 18 36 18 18 36 18 10 28 168
D |2K3aMeHaLMOHHbIE ceccum 34/6 |31/6 [ 65/6 | 34/6 | 31/6 | 65/6 | 24/6 | 31/6 | 55/6 [ 24/6 | 31/6 [ 55/6 | 24/6 [ 21/6 | 45/6 30 1/6
Y |YyebHas npaktuka 2 2 2
M |Mpou3BoAcTBEHHAs NpaKTUKa 6 6 4 4 10
Nga |NpepavnnomMHas npakTuka 10 10 10
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a KBanM@rKaLMOHHOW paboThl, BKIOYast 6 s %
noAroToBKY K npoueaype 3almTbl 1
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